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AxXA3 = nAx + XAX

117

-140

-165

-437

-480

-525

-572

-112

-135

-160

-432

-475

-520

-567

-105

-128

-153

-468

-513

-560

119

-144

AXA3 =

OA3=729 = nAx + XxAX
729=80*9 + 1*9
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1*9=9   4,5=9

9*9=81    12,15=27

16*8=128    16,20=36

25*9=225    20,25=45

36*9=324    24,30=54

49*9=441    28,35=63

64*9=576    32,40=72

Ax^3 = nAx + xAx

72*9=648  21,33=54

32*9=288   1,17=18

17*9=153   4,14=18

56*9=504   11,25=36

80*9=720  31,41=72

Ax^3 = nAx + xAx

9^3=729 = nAx + xAx
      729=80*9 +  1*9
      729=77*9 +  4*9
      729=72*9 +  9*9
      729=65*9 + 16*9
      729=56*9 + 25*9
      729=45*9 + 36*9
      729=32*9 + 49*9
      729=17*9 + 64*9
      729= 0 *9 + 81*9


Ax^3 = nAx + xAx

9^3=729 = nAx + xAx
      729=80*9 +  1*9
      729=77*9 +  4*9
      729=72*9 +  9*9
      729=65*9 + 16*9
      729=56*9 + 25*9
      729=45*9 + 36*9
      729=32*9 + 49*9
      729=17*9 + 64*9
      729= 0*9 + 81*9


Example: 9 = 729=693 + 36

3

4 STEPS   + 5 STEPS   =9 STEPS

5 STEPS   + 4 STEPS   =9 STEPS

Copyright© 2020, Reginald Brooks, Brooks Design. All rights reserved. 

4*9=36    8,10=18

77*9=693   26,37=63

45*9=405   6,21=27

81*9=729    36,45=81

65*9=585   16,29=45

81*9=729  36,45=81


